EARAROBEEIERT — 2 N— IBISH —F

20185F9A1H (+) 7H=HI3H

m}%@hb\#.—?i‘;u +5% 3% ‘ %] & ‘ [eEmm]  — | &4 (%) 13000 &
[A&4£] 1 7 :200,000™ ~ 23#%&:60,000H”  33&:30,000H”  437:20,000MH .~ 57&:10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 4| FZ=T7 1T >3 Z‘gﬁlofr%* 1:23.6 1=1-1-1 391 — | 1 | 427 ﬂ(%}%bﬁ (EfE)i
. — ——{E
QAL YamK—5— BFP— b Fr—L ) @) | mmumns
2l5|5| F==FUZ # 3 gﬁ%iﬁ—ﬂﬂ 1:(254).7 2222 3.9 — | 6 | 39 :‘a“e(%ﬁ:l\ é‘%g)@
L:2=/xLlLy b BERY—FT7AUZ (#5) BARLBRS
3l5lg| NITTUYY 3 g%%g’é‘% 1:(235).4 7-3-4-3 | 40.5| — 2 | 440 Qﬁi;;e (B0
QIfYrTTysa BivAE—a-7 | Zignsg
R 4t 3 | WK 1:25.5 4-5-5-4 | 40.5| — 7 458 | BEMELH (BH)
4 g| TXZIKTZN 54.0 (1/2) (+3) |FmAt
RNZ—kE21—Z BIXTIKRSICT 1 KT 7 — L
sl7]g | —KLF o i 3 gff()%;ﬁ 1:(225).9 3-4-3-6 | 41.0| — 8 463 gggg (=)
RTUA—Y B EEFLTHFI— O Eemm e
6 9 5 —2 4 3 ﬁ{%éﬁ%ﬂﬁ (172;79) 11-11-11-9 | 39.8 | — 4 435 Fgg}%é% (&%)
LNn—ETrv— BNINITHILY (-4) KBRS
717 10| T # suO-—x it 3 gf%f%% (11216/22> 8-10-10-10 | 40.2 | — 12 | 423 g@l;gg (=)
QO-XFLTEL B hFU—T— )| SEmms
8 7 NFERLTL1xT— i 3 5&?34%‘?1 (11:216/.25) 6-7-6-5 |41.4| — 1 | 415 %ﬁgi (&)
RixrvvH/¥xtx B:/O0XRXE—K (=3) S2aAYTT— L
9l8l11 A Xy YT A 4 3 EJ_I(I)%K%A (11:216/.28) 10-8-7-7 [41.5| — 5 468 élﬁ;ﬁ%?} (5
LB MRS BN Ry SLR D e
1olglio| £ 2=7 14—k 4 3 ;?-'ZJIA% 1(:32/?4.)0 9-9-7-8 | 4.7 — 3 462 2%%; (&%)
RILLTTyva BIYIv4 0 ek ap
MNP EC PP, # 3 @g’;_jgﬂh 1:(258>.l 12-12-12-12| 41.7| — | 9 | 384 fﬁ”glﬁ%a‘: (&=50)
Qi IUTY BES by | Fremas
1 3| Tat—tfa- H 3 slﬂa*gié"r 1:(238).8 5-6-9-11 |43.3| — 10 | 487 ﬁ%ég (=)
QInF—{F— BINE-FrTr> #) |32 —%
® I —F—EBIERL
i3=3r= 4,5,9,8,3,7,6,10,12,11,2,1
Aol=5r= 4,5,6,9,8,3,7,11,12,10,2,1
30—7+— 4,5,9,6,8,7,(11,12),3,10,2,1
41—+ — 4,5,6,8,7,9,11,12,2,10,3,1
[ RN
B OB 4 150 714K 4-5 330M e & 4-5 210M &R 4-5-6 810M
8 B 4 110 4-6 150 B & 4-5 950/ JEH 4-5-6 3,670
5 1904 5-6 530 B H 4-5 1,440M
6 140M

ABICOVWTRDTEEERROODE. TR LIV,




